| N of associated (recoToSim) duplicate tracks vs pT |

[N of associated (recoToSim) tracks vs pT_]

N of reco track vs pT

10"

=
X
Q
8
£
H
g
g
7
e
s
g
z
H
4
=1 5
z -
L] sxoen areondnp
IS5
x
s}
g
=
p P P
g & g g
syoel axe) oney @ syoel) axe) oney syoel) axe)
Rernnl
= Elll
O~ =
Ay
[} X
e @ g
e ! )
q —
S —
»
2 -4OTT0| m
. ) ﬂ% m
ki 3
2
s
- — o
I
=
5
]
8
G
z

S)dely aniy Soen anl) oney

. Gedf’

track n

2
p.

trag‘lg

o
-
-
[=%
- 2 B
(=} o
7 8 8
— G o
3 5 5
syoen syoen syoeln oney

track @

track ¢@

track @

track ¢



	Contents
	Page 1


